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Zirkvlar Bohrgewindefriiser 4.0

M ISO DIN 13

VEm
CAR

Mikro-Karbides Rohmaterial

Fortschrittliche Innenkihlung

o Optimierte PVD Schutzschicht

Konditionierte Schnittkante

Programmierzyklus

® linksschneide (Gegenuhrzeigersinn)
* Gewindetiefe bis 3xD, maglich
e Dank IK optimale Spanabfuhr (min 20 bar)

www.dcswiss.com

ZBGF6065VS

ZBGF6067VS

ZBGF6065VS é% = |VS

ZBGF6067VS é% = | VS

n
10
3

]

2xDi 3 xDi
oo, P d L L 4k 1, D
Mm mm mm mm mm mm mm mm v
3 0.50 243 55 15 75 4 075 3 181605
4 0.70 3.05 55 21 101 6 1.05 3 181606
) 0.80 408 55 24 124 6 1.20 3 181607
6 1.00 450 64 3.0 150 6 1.50 4 181608
8 1.25 595 64 38 198 6 1.88 4 181609
10 1.50 795 74 45 245 8 225 4 181610
12 1.75 995 80 53 293 10 2.63 4 181611
16 2.00 11.95 92 6.0 380 12 3.00 4 181612
@b, P d L, L L dw I, D
M mm mm mm mm mm mm mm =
3 0.50 243 55 15 105 4 0.75 3 181613
4 0.70 3.05 55 21 1441 6 1.05 3 181614
5 0.80 408 55 24 174 6 1.20 3 181615
6 1.00 450 72 30 210 6 1.50 4 181616
8 1.25 595 72 38 2738 6 1.88 4 181617
10 1.50 795 90 45 345 8 2.25 4 181618
12 1.75 9.95 102 53 413 10 2.63 4 181619
16 2.00 11.95 115 6.0 540 12 3.00 4 181620
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